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SN OISR D
M LOISXSA(MEIER/ L0l - HAH)
Helr e Moty T (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 160,773,391 149,901,825 10,871,566
= 144,696,052
Al 14,469,605
- 1,607,734
01 AR 2EHSHS(RNEXRTHE) 160,773,391 149,901,825 10,871,566
OFJESIE NI, 160,773,391,000& 160,773,391
= 144,696,052
Al 14,469,605
- 1,607,734
NASoAN S 224228z X3 80,000 80,000 0
301 LELEE S 80,000 80,000
02 A2 EH LGS (HAAS, W) 80,000 80,000
OMASEOANN S 2UALEEE X2
80,000,000 80,000
O SSMHIAAMS I 3,837,870 3,914,910 AT7,040
N 2,686,510
Al 575,680
T 575,680
307 elztol & 3,837,870 3,914,910 AT7,040
N 2,686,510
Al 575,680
- 575,680
11 AMEISXAEEES 3,837,870 3,914,910 AT7,040
OeI¥ESSAHIA 3,837,870,000& 3,837,870
N 2,686,510
Al 575,680
- 575,680
oG ARIE 482,562 0 482,562
Al 241,281
T 241,281
307 elztol & 482,562 0 482,562
Al 241,281
- 241,281
11 AMEISXAIEEXS 482,562 0 482,562
Okl R34 X 482,562
- Y2RAY 2234 363,900,002 363,900
Al 181,950
- 181,950
- NS Mot AlAL, 2Ere BiE
118,662,000 118,662
Al 59,331
- 59,331
Lol golg 2| X 3,000 3,000 0




SN OISR D
. LS SE(AIZSXI/ L0l - HAHE)
Chel: == Moty KA (SH &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
301 LPBNZ 3,000 3,000
02 AISI 2GS (FAAS, RYTHR) 3,000 3,000
O4yeoigsgs)| XA 3,000,000& 3,000
SHLOISSEHL SsSHELHEMEIA 2SR 162,207 162,207 0
Xl 80,503
Al 41,452
- 40,252
307 212+01 ™ 162,207 162,207 0
Xl 80,503
Al 41,452
- 40,252
10 AISISXAIEHE2ZHIEX 162,207 162,207 0
O=SHEQIHC! SStEtAHHIA 29
X3 162,207,000& 162,207
Xl 80,503
Al 41,452
- 40,252
AR HEH S 1,000 1,000
301 LPENZ 1,000 1,000
14 JIEt2 43 1,000 1,000
OFIIQ2I|2 SALA WEH|
1,000,000& 1,000
LOoISIIAIE RIH 2,283,790 1,304,050 979,740
= 316,914
Al 653,776
- 1,313,100
22 S e & 2=2H| K& 424,308 333,870 90,438
= 212,154
Al 106,077
- 106,077
307 212+01 A 424,308 333,870 90,438
= 212,14
Al 106,077
- 106,077
10 IS SXAIEHE2ZHIEX 424,308 333,870 90,438
OB2Y Wyl Y 23| K2
424,308,000 424,308
= 212,14
Al 106,077
- 106,077
a2 29 1I& 708,084 258,440 449,644
Al 190,747
- 517,337




SN OISR D
M LOISXSA(MEIER/ L0l - HAH)
el ==XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 3,200 2,000 1,200
01 At2teltl 3,200 2,000 1,200
ogdz4g 23 01d 200,000 1094 A 2,000
ORHI=d & MH
600,000 *20H A 1,200
301 EtE NS 50,750 42,000 8,750
02 ANRI2HHHS(HAAS, NLHE) 8,750 0 8,750
02 4T SE N
50,0003 %1754 A 8,750
14 IIEt2 83 42,000 42,000 0
OF2Z FODH= Y3 T20 29
1,000,000 *420H 2= 42,000
307 @120l & 624,134 184,440 439,694
Al 190,747
- 433,387
10 AlRISTIAEEE2HIEX 557,640 175,440 382,200
OZ2g 244l X (FHIFI) 242,640
- JlE2gl 104,0002 x 1800 2+ 12 224,640
- 25 HHEERY 32d S FIE
100,000 x150 A 123 18,000
OZ=2g 24l NA(MHIEX)
315,000,000 315,000
Al 157,500
- 157,500
11 AMEISXAEEE 66,494 9,000 57,494
OZzd g4 Z=2 18 XA
25,000,000& 25,000
Al 12,500
- 12,500
OZ2E =3 T2 )8 22X 8HXl X
41,494,000 41,494
Al 20,747
- 20,747
405 AHaHE = 30,000 30,000
01 It =S F = 30,000 30,000
a2 =3 30,000
- ol S JHERS
2,000,000 *100H 2~ 20,000
- A0 S It 400,000 *250H A 10,000
LEO=STIAE JIs22 185,000 175,000 10,000
401 AIEHIKL 20 185,000 175,000 10,000
01 Al&H| 185,000 175,000 10,000
OLI=XIAIE HE+
2,500,000 7000 2 175,000
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SN OISR D
M LOISXSA(MEIER/ L0l - HAH)
el ==XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 37,440 0 37,440
Al 37,440
1 ABIS XA EE 37,440 0 37,440
COIBERAIL BAR EXI4E
37,440,000 37,440
Al 37,440
MAZSO(UEX QAL AT 116,400 100,000 16,400
= 104,760
Al 11,640
307 212+01& 116,400 100,000 16,400
= 104,760
Al 11,640
11 AMEISXAEEES 116,400 100,000 16,400
LOISXAIE LMK MAHI X2
116,400,000 116,400
= 104,760
Al 11,640
ANZEXNHREEX AZE2RLY 2el(HE-=2SX1) 439,7% 390,740 49,056
301 LEtE NS 439,7% 390,740 49,056
0 ARISRFENS 439,7% 390,740 49,056
O== 770,000 x35E «12& 323,400
OLl=H| 316,000& »35H 11,060
OulSH| 3,400 362U x 12 31,416
OSAHI 8,000 x35& 22 « 12 73,920
SEEAMAEN 243t 16,921,584 14,800,993 2,120,591
= 8,040,607
Al 4,343,315
- 4,537,662
colgiiel & AtelESKIE & 16,082,214 14,565,480 1,516,734
= 8,040,607
Al 4,020,304
- 4,021,303
203 HR=H| 1,000 1,000
03 A= PR FAI| 1,000 1,000
OF-UARIEN 243t AT
1,000,000 1,000
307 @120l & 16,081,214 14,564,480 1,516,734
= 8,040,607
Al 4,020,304
- 4,020,303
05 212+ =S 16,081,214 14,564,480 1,516,734
ool & Atelgs A&
16,081,214,000& 16,081,214
= 8,040,607




SN OISR D
A LSXET (AR
el ZLUAMSIEN & (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,020,304
T 4,020,303
AILIOIZEE 29 379,370 0 379,370
Al 323,011
- 56,359
307 gl2to| & 379,370 0 379,370
Al 323,011
- 56,359
05 git?(& = 379,370 0 379,370
OAlLIZEE oA 315,166,000 315,166
Al 267,891
- 47,275
OAILIOIZE 29 60,559,000 60,559
Al 51,475
- 9,084
OSXEIE 700,000 700
Al 700
Oxz=z22=¢ 2,945,000& 2,945
Al 2,945
CIMSBIMT|IRAME 23 460,000 235,513 224,487
307 lztol & 460,000 235,513 224,487
05 21t S 460,000 235,513 224,487
OLlY= MM 22t?E=
460,000,000 460,000
ZOHR! SXSA (A= X/FHAHEXR) 43,121,584 27,519,772 15,601,812
= 26,047,286
Il 37,250
Al 13,461,816
- 3,575,232
oSl SANEH 43,121,584 27,519,772 15,601,812
= 26,047,286
Jl 37,250
Al 13,461,816
- 3,575,232
o= X 2435t 22,550 12,100 10,450
201 et 3| 2,550 2,100 450
01 AtR2te|Hl 600 600 0
OFZMA=EX R3A =
600,000 600
02 S5=2g4l 1,950 1,500 450
O 8= s
=2 30,000& %153 1,950
203 HR=4AY] 1,000 1,000 0




2A:

3 ZOH SANST(ARSA/HLAHSKIE)
Rl Zojel SN2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A=A RN 1,000 1,000 0
OHeI=A gdat 1,000,000& 1,000
307 elzto| & 10,000 9,000 1,000
11 AMEISXAIEES 10,000 9,000 1,000
OZA=SX2 HIUMY 2018 efd &
243 At 10,000,000 10,000
405 KHaHE SH 9,000 9,000
01 TR ESF SHI 9,000 9,000
O+SEH0 BELFII| 7Y
4,500,000 +20H 9,000
ofel=sA2 2SS A 2,227,258 0 2,227,258
Al 2,227,258
307 212+01& 2,227,258 0 2,227,258
Al 2,227,258
10 AlISXAZEHE 22X 2,227,258 0 2,227,258
OZeI=X2 28X 2,227,258
- Q12| 2,022, 766,000 2,022,766
Al 2,022,766
- 244 181,066,000 181,066
Al 181,066
- SAELIE 4,200,000& 4,200
Al 4,200
- N2tel=g 19,226,000 19,226
Al 19,226
ZoHRIFUES AL 2SN 853,073 0 853,073
Al 853,073
307 @I2t01 & 853,073 0 853,073
Al 853,073
10 Al SXAEEHE2EHI 22X 853,073 0 853,073
OFI=AESAIE 2EXE 853,073
- el 782,638,000 782,638
Al 782,638
- 24| 60,000,000& 60,000
Al 60,000
- SXELIE 1,800,000 1,800
Al 1,800
- N2tel=g 8,635,000& 8,635
Al 8,635
ZOHe! =& 2t LAIES ALY 30,000 0 30,000
Al 30,000
307 elztol & 30,000 0 30,000
Al 30,000
10 Al2ISTIAIEEE 22X 30,000 0 30,000




2A:

3 ZOH SANST(ARSA/HLAHSKIE)
oels ZoHel SXEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ol =& =2t LAIZS AL
30,000,000& 30,000
Al 30,000
ZOHRIXI S MEME IR 160,830 156,667 4,163
= 64,332
Al 96,498
307 elztol & 160,830 156,667 4,163
= 64,332
Al 96,498
10 Al SXAEEHE 22X 160,830 156,667 4,163
Ol AEdadH Xa
160,830,000 160,830
= 64,332
Al 96,498
ZofeiXiggel HgE 2SN 28,375 0 28,375
Al 28,375
307 @I2to| & 28,375 0 28,375
Al 28,375
10 Al SAAIEEHE 22X 28,375 0 28,375
OFOfIXI Al XHOT 2HXR
28,375,000& 28,375
Al 28,375
ZOHRIE M X 16,520 15,520 0
307 elztol & 16,520 15,520
02 2B YAIHE £ 15,520 15,520
OFel =Xgsy & NEHXE A
15,520,000& 15,520
MAS O (ZOHHFAIA) 256,450 210,000 46,450
= 230,805
Al 25,645
307 212+01& 256,450 210,000 46,450
= 230,806
Al 25,645
11 Al SXIAIEE 256,450 210,000 46,450
OMASH(HOANFTAIE)
256,450,000 256,450
= 230,805
Al 25,645
JOHHFAIE 23 XA 3,469,450 3,078,061 391,389
= 2,428,615
Al 1,040,835
307 212+01& 3,469,450 3,078,061 391,389
= 2,428,615
Al 1,040,835




2A:

3 ZOH SANST(ARSA/HLAHSKIE)
Rl Zojel SN2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 Al SXAIEEHE2EHI2x 3,469,450 3,078,061 391,389
OHMAANFAIE 28 X2 3,469,450
- el 3,316,233,000& 3,316,233
= 2,321,363
Al 994,870
- 244l 153,217,000 183,217
= 107,252
Al 45,965
JOHUNFAIE 2 ABIFIHNIA 213,248 0 213,248
Al 213,248
307 @I2t01 & 213,248 0 213,248
Al 213,248
10 Al SAAEEHE 22X 213,248 0 213,248
OZMANFAIE 2E ABIFIHAIE 213,248
- Se2fs8 80,400,000 80,400
Al 80,400
- SAUSXERIE 6,700,000& 6,700
Al 6,700
- YOHS ROt AFOHR SALK =0t
102,948,000 102,948
Al 102,948
- 2EH S FIKI (LAl Z§)
1,700,000 1,700
Al 1,700
- YEUSH S 21,500,000 21,500
Al 21,500
ool SSHEIE X 310,984 0 310,984
Al 310,984
307 @120l & 310,984 0 310,984
Al 310,984
10 Al SXAIEEHE2EHI 22X 310,984 0 310,984
O =s4&ItE X2 310,984
i ural:l 262,584,000 262,584
Al 262,584
- 244 48,000,000& 48,000
Al 48,000
- SXELIE 400,000 400
Al 400
ZOHR! MNATHEAIE K& 629,573 0 629,573
Al 566,616
- 62,957
307 glztol & 629,573 0 629,573
Al 566,616




2A:

3 _X:*OH I SXNEX(AZISR/FHAHEXR)
el Zoiel SXNEE (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 62,957
10 Al SXAZEE 22X 629,573 0 629,573
OFH! HNHMEAIE XS 629,573
el ural:] 561,411,000 561,411
Al 505,270
- 56,141
- 24| 36,535,000& 36,535
Al 32,882
- 3,653
- MItESAl] 30,627,000 30,627
Al 27,564
- 3,063
- SXELIE 1,000,000 1,000
Al 900
T 100
HoH=g0lx) X2 1,244,588 633,111 611,477
= 871,211
Al 261,363
T 112,014
301 EtE NS 1,244,588 633,111 611,477
= 871,211
Al 261,363
- 112,014
01 AR 2EHSHS(RNEXRTH) 1,244,588 633,111 611,477
OFM=Ix) K= 1,244,588,000& 1,244,588
= 871,211
Al 261,363
- 112,014
=2 (R S) X= 655,693 524,581 131,112
= 458,985
Al 137,696
- 59,012
301 Eet2 NS 655,693 524,581 131,112
= 458,985
Al 137,696
- 59,012
01 Al EE A S (2 RDEXA) 655,693 524,581 131,112
OZM==E (9 S) X3
655,693,000 655,693
= 458,985
Al 137,696
- 59,012
ZoHe! e+ 221,000 0 221,000




SN OISR
3 ZOH SANST(ARSA/HLAHSKIE)
Rl Zojel SN2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 221,000
301 EtE NS 221,000 0 221,000
Al 221,000
02 ARSI 2EH 2GS (FHAAHS, NLWE) 221,000 0 221,000
OZofe Me+=< 221,000,000& 221,000
Al 221,000
gdofelois =0 K= 7,607,726 6,529,226 1,078,500
= 5,325,408
Al 2,282,318
301 LEtE NS 7,607,726 6,529,226 1,078,500
= 5,325,408
Al 2,282,318
01 Al EE A S (2 RDEXMR) 7,607,726 6,529,226 1,078,500
OoFelgs =0 X2
7,607,726,000& 7,607,726
= 5,325,408
Al 2,282,318
MASHOHR! JEHl & ZAH X 5,948 6,800 AB52
= 2,974
Al 2,974
301 EtE NS 5,948 6.800 AB52
= 2,974
Al 2,974
01 Al EE AT S (2 DEXMA) 5,948 6,800 A\B52
ORASHONQ ZITH L LA X
5,948,0002 5,948
= 2,974
Al 2,974
Zoeleizdl K& 296,632 296,632 0
= 237,306
Al 59,326
308 XXM SOIH 296,632 296,632 0
= 237,306
Al 59,326
18 SIS0t oA AS A 296,632 296,632 0
Ol ZHl X1 296,632,000& 296,632
= 237,306
Al 59,326
Mg &0 SLHIESA2 5,000 5,000 0
= 3,500
Al 1,500
301 2eEN= 5,000 5,000 0
= 3,500




SA FUS
ZH: OOl SXST(AEST/HSASTR)
=&t HoHe SN2 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,500
01 Al EE A S (2 RDEEMA) 5,000 5,000 0
ONg&el SIS
5,000,000& 5,000
= 3,500
Al 1,500
F21Z0HQ -2 ==X1& 10,970 0 10,970
Al 10,970
301 EetE2 NS 10,970 0 10,970
Al 10,970
02 MBI 2HASFS(HAAS, XNLHE) 10,970 0 10,970
OF2AHOR LBOIRH 22X
10,970,000 10,970
Al 10,970
R IR (k) 12,925 20,625 AT,700
= 10,340
- 2,585
301 EtE NS 12,925 20,625 AT,700
= 10,340
- 2,585
01 Al E2E A S(FREXM) 12,925 20,625 AT7,700
OO EX0|7 W2 12,925,000& 12,925
= 10,340
- 2,585
ZOHQI L Xt2| X & (L ErE 2 Xtel) 1,064,000 938,430 125,570
= 532,000
Al 532,000
101 @124H| 1,061,464 0 1,061,464
= 530,732
Al 530,732
04 JIZtN22 XS 2+ 1,061,464 0 1,061,464
Ol LXtel XId (YEH) 1,061,464
el ural:] 2,060,740 x36E « 12& 890,240
= 445,120
Al 445,120
- AUEE 890,239,680 *10.9% 97,037
= 48,518
Al 48,519
- §&=s 2,060,740 ~36& 74,187
= 37,094
Al 37,093
201 =3 2,536 0 2,536
= 1,268




SN OISR
3 ZOH SANST(ARSA/HLAHSKIE)
oels ZoHel SXEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,268
01 AtR2t2|HI 2,536 0 2,536
OgZH= bl 24,0002 36 *23] 1,728
= 864
Al 864
Od&ARS =& 150,000 5% 750
= 375
Al 375
O =58 M&dl 58,0002 *12 58
= 29
Al 2
ZOoHQIdXtel XI&(AIRMLXtE]) 236,000 144,458 91,542
= 118,000
Al 118,000
101 e124d| 235,882 0 235,882
= 117,941
Al 117,941
M ORIMZZ2NSE S 235,882 0 235,882
OF NI K2l XI& (AIZEH) 235,882
- el 1,030,370~ 162+ 122 197,832
= 98,916
Al 98,916
-4AUEsS= 197,831,040 *10. %% 21,564
= 10,782
Al 10,782
- ElX= 1,030,3702 «16& 16,486
= 8,243
Al 8,243
201 fet= 3| 118 0 118
= 59
Al 59
01 AtR2te|Hl 118 0 118
OEZEHdE FYUHI 118,000 118
= 59
Al 59
o X2l X (SXLRel) 602,000 364,226 247,774
= 301,000
Al 301,000
307 el2to| & 602,000 364,226 247,774
= 301,000
Al 301,000
05 212+ = 602,000 354,226 247,774




2A:

3 ZOH SANST(ARSA/HLAHSKIE)
=&t HoHe SN2 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZHALTI XA (SFLS-ZXANE)
117,640,000& 117,640
= 58,820
Al 58,820
O L2l KIZ (FHE)
484,360,000 484,360
= 242,180
Al 242,180
S XY SEE FHAXA 73,700 73,688 12
Jl 37,250
Al 36,450
307 el2to| & 73,700 73,688 12
) 37,250
Al 36,450
05 2I2+RIE =S 73,700 73,688 12
OSsHM NHREE FHEAA
73,700,000 73,700
Jl 37,250
Al 36,450
Zoje! sX=20 A 18,821,791 12,402,311 6,419,480
= 13,175,2%4
Al 2,823,269
- 2,823,268
308 AFAIEHMSOIE 18,821,791 12,402,311 6,419,480
= 13,175,254
Al 2,823,269
- 2,823,268
183 S| 2SO ZB HASAIE 18,821,791 12,402,311 6,419,480
oS S0
18,821,791,000& 18,821,791
= 13,175,254
Al 2,823,269
- 2,823,268
$SEX ORIE0 470,954 118,447 362,507
= 329,668
Al 141,286
308 XXM SOIA 470,954 118,447 362,507
= 329,668
Al 141,286
18 SIS0t oA AS A 470,954 118,447 362,507
OEsSEX a0 470,954,000& 470,954
= 329,668
Al 141,286
ZOHLIES KA AIHIFIHKIE AL 725,963 0 725,963




2A:

I _X;OH | SXST(AZIEX/HAHERR)
=&t HoHe SN2 (CH9: &S1)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 653,367
T 72,5%
308 XtXIEMSO0IH 725,963 0 725,963
Al 653,367
- 72,5%
18 S 2SS & AEAIE 725,963 0 725,963
OFHUBSTE AlHIZEIITIAIL
725,963,000 725,963
Al 653,367
- 72,596
IR B SAEIAXI 1,516,668 667,942 848,726
= 1,061,668
Al 227,500
- 227,500
308 AXIHMSOIA 1,516,668 667,942 848,726
= 1,061,668
Al 227,500
- 227,500
18 SIS XA AIE 1,516,668 667,942 848,726
QLR FAEEMHIATIE
1,516,668,000& 1,516,668
= 1,061,668
Al 227,500
- 227,500
FA4E LEYISY B SSMHHIAXRA 284,036 267,410 16,626
= 198,825
Al 85,211
308 AHXIHMSO0IA 284,036 267,410 16,626
= 198,825
Al 85,211
183 SV 2SS & HAET AL 284,036 267,410 16,626
OBAE LLHNEY LUSHSHUIAT
& 284,036,000 284,036
= 198,825
Al 85,211
LLTHEMEIA B2 X 990,199 874,800 115,399
= 693,139
Al 148,530
T 148,530
308 AHXIEMSOIE 990,199 874,800 115,399
= 693,139
Al 148,530
- 148,530
183 S| 2SS & AS AL 990,199 874,800 115,399




S FRI=XID
opel

3 ZOH SANST(ARSA/HLAHSKIE)
oels ZoHel SXEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZEHEAUIS B2
990, 199,000& 990,199
= 693,139
Al 148,530
- 148,530
LEHY F2A4ERNE 6,080 3,000 3,080
= 4,25
Al 1,824
308 AXIHS0IA 6,080 3,000 3,080
= 4,25
Al 1,824
18 S| 2SO B & HASAIE 6,080 3,000 3,080
OLLHH SRALXR
6,080,000 6,080
= 4,25
Al 1,824
2 2AIREE EQ7 ZAZ £X 5,000 5,000 0
307 elzto| & 5,000 5,000
1 AMEISXAEEXS 5,000 5,000
OARDMYT BUT BAR &1
5,000,000& 5,000
delsSs SSHMY XEE LAY 47,400 0 47,400
Al 23,700
- 23,700
307 212+01& 47,400 0 47,400
Al 23,700
- 23,700
05 2ItRIE =2 47,400 0 47,400
Odclss SSHM XEE LhcIA
47,400,000& 47,400
Al 23,700
- 23,700
HASOts 25 % SE(MISA/FHAASAE) 214,800 204,080 10,720
Xl 171,840
Al 12,888
- 30,072
Fefotsal MolA LA 214,800 204,080 10,720
N 171,840
Al 12,888
- 30,072
FAHS OlSSEAHIA XIH 214,800 204,080 10,720
Xl 171,840
Al 12,888
- 30,072




SN OISR
M HAS0ts 25 Y SE(MISX/FHAHEXH)
Rl Folsal deld 2| (SH9 H2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
101 @124H| 12,200 0 12,200
N 9,760
Al 732
- 1,708
04 JIZtN2Z2 S8+ 12,200 0 12,200
OOtSSSAtdIZ AL SO0t=A THMelE 2
EE-ESIE-2- 3101
12,200,000& *1H 12,200
N 9,760
Al 732
- 1,708
201 Ler23 | 33,600 33,500 100
N 26,880
Al 2,016
- 4,704
01 AtR2tc|bI 25,000 28,500 23,500
OEEAEEMH 23] 16,140,000 16,140
N 12,912
Al 968
- 2,260
O®Igu=HI 250,000 4 1,000
N 800
Al 60
- 140
OXEHHESg &=L (2E223, #+1
BIOIM, &%) 1,000,000& *42] 4,000
N 3,200
Al 240
- 560
OSEEESAMY SN 2 500,000 500
A 400
Al 30
- 70
@r=1=i:] 8,000 x7&+54x 123 3,360
N 2,688
Al 202
- 470
02 S3=2g4l 3,600 5,000 21,400
O=322 & HAl 2,000,000& 2,000
N 1,600
Al 120
- 280
OXEsFU & S 1,600,000& 1,600
N 1,280




SN OISR
¥ MAS0E 25 ¥ SE(MISA/HALASKE)
Rl Folsal deld 2| (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al %6
T 224
03 A=Y 5,000 0 5,000
OJt=sgel ¢ 5,000,000& 5,000
N 4,000
Al 300
T 700
202 04l 6,000 8,800 22,800
N 4,800
Al 360
- 840
01 2LHoIH 6,000 8,800 /2,800
OZUHEHNH 100,000 x4 * 122 4,800
N 3,840
Al 288
- 672
OZ2E&0H 300,000 x4 1,200
N 960
Al 72
- 168
203 HR=&H] 2,000 2,000 0
N 1,600
Al 120
- 280
03 A=A 2= 2,000 2,000 0
OLEEAERE 29 =8 2,000,000 2,000
X 1,600
Al 120
- 280
301 22N 160,300 152,780 7,520
N 128,240
Al 9,618
- 22,442
11 #AIAHIXIE S 14,000 12,000 2,000
OEYAEIE OtXE &S|
14,000,000 14,000
N 11,200
Al 840
- 1,960
14 0Bt 2a s 146,300 140,780 5,520
OXNESAL S AHI2d
100,000 x6E 123 7,200
N 5,760




A FRISXID
BH: HASOIS 25 U SH(ASSX/FHAHSKE)
o2l FHetots2el Mol LR (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 432
= 1,008
OSEAEE T2 2%
139,100,000 139, 100
Xl 111,280
Al 8,346
- 19,474
405 XHeHE S| 700 7,000 26,300
Xl 560
Al 42
- B
01 ML =ZFSHI 700 7,000 26,300
Sct20/E Jtollet & 213D
700,000 700
Xl 560
Al 42
- B
HH2AAYI(F2USXIW) (JIEHIIEL 267,160 253,863 13,297
Xl 94,560
Al 7,092
- 165,508
EEETESE ) 203,688 194,005 9,503
Xl HA,560
Al 7,092
- 102,036
QI 2| (OtSSEALCI ZEIA) 203,688 194,095 9,593
Xl HA,560
Al 7,092
- 102,036
101 eI24t| 173,120 174,966 A1,846
Xl HA,560
Al 7,092
- 71,468
03 SRA(RINHL) 222> 173,120 171,170 1,950
OO0t SEAtdllZel A 2124H]
2,462, 5002 x4 B+ 128 118,200
Xl 94,560
Al 7,092
- 16,548
OO0tSSEALIZ2IAF Q1A (RBIF=IHR)
137,500& x4 H x 122 6,600
OAIII224E 300,000& x4+ 122 14,400
OZAdZ A 140,000 x4+ 123 6,720
OJE= 200,000 x4F«12& 9,600
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